Homework Set 11 C
PH 112 – 10
Q1.	A flywheel rotates with constant angular velocity.  (A) Does a point on its rim have a tangential acceleration?  Explain.  (B) Does a point on its rim have a centripetal acceleration?  Explain.  (C) Are the two accelerations constant in magnitude?  Explain.

P1.	An airplane propeller is rotating at 1900 rpm (revolutions per minute).  (A) Calculate the propeller’s angular velocity.  (B) How many seconds does it take for the propeller to turn through 35°?

P2.	A flat (unbanked) curve on a highway has a radius of 220.0 m.  A car rounds the curve at a speed of 25.0 m/s.  (A) What is the minimum coefficient of friction that will prevent sliding?  (B)  Suppose the highway is icy and the coefficient of friction between the tires and pavement is only one-third what you found in part (A).  What should be the maximum speed of the car so it can round the curve safely?
[bookmark: _GoBack]P3.	A small car with mass 0.800 kg travels at constant speed on the inside of a track that is a vertical circle with radius 5.00 m, as shown in the figure below.  If the normal force exerted by the track on the car when it is at the top of the track (point B) is 6.00 N, what is the normal force on the car when it is at the bottom of the track (point A)?
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